Economics: The Basics, 2e

Study Guide: Chapter 16

Learning Objectives

LO16-1 Define the labor supply and demand curves.

LO16-2 Identify factors affecting labor market equilibrium.

LO16-3 Explain why different workers may receive different wages.

LO16-4 Describe effects of government regulation on the labor market.

LO16-5 Identify the forces driving long-term labor supply.

Outline

· The Basics of the Labor Market
· The Labor Supply Curve reports, for each level of wages, how many people are in the labor force.

· As wages increase, more people will be willing to fill that job (the supply curve is upward-sloping).
· A job market decision: the decision of the type of job one should seek.
· Each labor market has its own labor supply curve.
· The Labor Demand Curve reports how many workers businesses will want to hire, given the wage rate.
· The Marginal Product of Labor is the increase in production generated by the additional worker.
· Marginal Revenue is the extra revenue generated from the production of the additional worker.
· The Marginal Cost of Labor is the wage (including benefits) that the company must pay to the additional worker.
· In the short run, workers are hired as long as the marginal revenue generated by the additional worker exceeds the marginal cost of labor.
· Labor Market Equilibrium and Wages

· Equilibrium wage and quantity of labor hired is found where the labor supply curve intersects the labor demand curve.
· Factors Affecting the Labor Market:
· Technological Change

· A substitute for labor will reduce the demand for labor.
· A compliment for labor will increase the demand for labor.
· Most technology is a substitute for low-skilled labor and a compliment for high-skilled labor.
· Globalization

· The labor pool effect is an increase in the supply of labor created by the larger pool of workers available globally for any job.
· The market expansion effect is an increase in the demand for labor created by an increase in the number of markets in which domestic producers can sell their products.
· Contributing Factors of Worker Variations
· Education

· Age and Experience

· Regulation of the Labor Market
· The minimum wage raises the wages of the lowest paid workers above their market wage.

· The 40 hour work week creates extra expense on business.

· Licensing requirements, for some occupations, may only serve to restrict competition and drive wages up.

· Unions can raise wages above market wage, at the cost of lower employment.
· Long-term Labor Supply

· Factors affecting the long-term labor supply include:
· The growth rate of the working-age population.
· Immigration.
· Location: More attractive locations will see an increase in the supply of labor.
Common Myths & Common Problems

· Don’t college graduates get paid more because they have better skills?

· Maybe. It is unclear exactly why a college degree leads to higher pay. Some argue college graduates learn valuable skills that increase their human capital and make them more productive, which is why they are paid more. Others argue that college graduates don’t learn additional skills, but that a college degree is merely a signaling device separating smart hardworking people from those who are not. In the end, it is not clear what is driving the increase in wage, or if it is a combination of the two viewpoints.
· Isn’t licensing good, because it makes sure that the workers are qualified?

· Not necessarily. As your textbook indicates, people may want some occupations licensed (medical doctors and the like). However, some jobs may have sought a licensing requirement to limit supply. Increasing the cost of entering some occupations deters entry into those fields. This raises wages above where they otherwise should be.
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· Aren’t workers’ incomes based on race, gender, and who they know?

· No. First, it would be illegal to discriminate. Second, the amount a worker is paid depends on her marginal productivity. The more productive the worker, the more benefit she confers on her employer through increased marginal revenue. This means that the employer is willing to pay more, since the benefit she confers is greater. This is why some people in companies are paid more than others; it is dependent upon the employee’s marginal productivity of labor.
Real World Applications from an Economist’s Perspective

As our economy continues to right itself from the recent economic downturn, some local governments are concerned about the long-term labor supply in their regions. One county I am aware of has seen many people in its labor force displaced by the outsourcing of the textile industry, and many college students in the county anticipate seeking work elsewhere after graduation. This county has spent taxpayer money to develop a biomedical office park, in the hopes of attracting business to the county and highly productive labor to the region. The county is hoping that by doing so, it will help sustain tax revenues and revitalize the county. They are putting their faith into the motto, “If you build it, they will come.
The problem with this strategy is that it does not address the factors that affect long-term labor supply. One such factor is the growth rate of the working-age population. A good portion of the college students from this county openly acknowledge the need to seek jobs in other counties and states after graduation. This decreases the long-term labor supply as workers leave the county. If this trend continues, it can have negative effects on economic growth and future tax revenues (which affects the provision of public goods, such as education). Building a biomedical office park does not address the flight of the collegiately-trained workforce.

Another problem is that building the biomedical office park fails to address location issues. In order to attract labor, especially highly talented labor such as those in the biomedical field, the region has to be attractive. Since the county is aiming to attract collegiately-trained workers, it needs to provide things that college graduates typically seek. For example, these types of workers tend to look for places with many cultural opportunities, low taxes, good schools, and a high quality of life. Unfortunately, the county has not addressed these issues. Cultural opportunities, especially multicultural opportunities, are few, real estate taxes tend to be on the high side, and the public education system is not as good as neighboring counties’ systems. This county is not attractive, as evidenced by the flight of locally developed college graduates.

If the goal is to increase the long-term labor supply curve, then taxpayer money would have been better spent dealing with the location attractiveness issues. If the county addresses cultural issues, cost of living issues (via lower taxation), and improving the public school system, then the region will enhance its attractiveness and increase the long-term labor supply. If the county can make these investments now, it can help sustain future economic growth for the county. 

Now it’s Your Turn
1.  Assume your state has passed a new law requiring all traffic violators to appear in traffic court with an attorney. What will happen to the labor market for lawyers in your state? Should we expect to see their wages increase or decrease? Graph and explain your result.
2.  Assume more immigrants move to your state to work in agriculture and construction. What happens to the wages in those fields? Explain graphically. Often, ethnic restaurants appear where there are increases in immigrant labor, because people like to eat familiar food. What effect does this increase in food service demand have on the food service labor market? Explain graphically. 

Practice Quiz

1. The decision regarding the type of job to look for is:

a. The labor supply curve.

b. Labor force participation decision.

c. Labor market participation.

d. Job market decision.

2. Different occupations:

a. Have different labor markets.

b. Share the same labor demand curve.

c. Share the same equilibrium point.

d. Share the same equilibrium wage.

3. If the wage exceeds the marginal revenue:

a. You should hire an additional worker.

b. You should fire workers.

c. You should increase everyone’s marginal product of labor.

d. You should increase the marginal cost of labor.

4. If college became mandatory for everyone:

a. The labor demand curve for college students would decrease.

b. The labor supply curve for high school students would increase.

c. The labor demand curve for professors would increase.

d. The labor demand curve for professors would decrease.

5. Most technological innovations act as:

a. Substitutes for high-skilled labor.

b. Substitutes for low-skilled labor.

c. Substitutes for all labor.

d. Substitutes for foreign high-skilled labor.

6. In the labor pool effect of globalization:

a. The labor supply curve decreases.

b. The labor demand curve decreases.

c. The labor supply curve increases.

d. The labor demand curve remains constant.

7. Under globalization, an increase in the demand for labor is caused by:

a. The market contraction effect.

b. The globalization effect.

c. The market expansion effect.

d. The labor pool effect.

8. Education premium is:

a. The cost of education.

b. Tuition minus the cost of books.

c. The added pay for having a college degree.

d. The added pay for wisely avoiding college.

9. Minimum wage causes:

a. A decrease in unemployment.

b. Wages to be less than the equilibrium wage.

c. An increase in unemployment.

d. A shortage of labor.

10. Unions:
a. Have experienced an increase in popularity.
b. Create an increase in employment.
c. Result in lower employment levels.
d. Push wages down.

Answer Key

1.  D

2.  A

3.  B

4.  C

5.  B

6.  C

7.  C

8.  C

9.  C

10.  C

